
jflif{s ljsf; sfo{qmd 

cf=j= )&$÷)&% 

j8f g+ & 

qm=; of]hgf tyf sfo{qmdsf] gfd /sd s}lkmot 

1 afn;'wf/ df=lj= ef}lts lgdf{0f 200000.00   

2 Hof]lteGHofª cf=lj= u]6 kvf{n lgdf{0f 200000.00   

3 k|1f cfwf/e't ljBfno ef}lts lgdf{0f 200000.00   

4 vfg]kfgL lgdf{0f  400000.00   

5 5fk t]/]dfg lgdf{0f ;fljs ^ 300000.00   

6 u'Daf lgdf{0f ;]n] ;fljs ! 400000.00   

7 kf]v/] dfg] lgdf{0f ;fljs # 200000.00   

8 wfgf{ dfg] lgdf{0f  200000.00   

9 lsl/ofk'qL 3/ lgdf{0f g]jf/6f]n ;fljs @ 100000.00   

10 lsl/ofk'qL 3/ lgdf{0f ;f/nyf]s ;fljs $ 100000.00   

11 jfn'Ë] dfg] lgdf{0f 200000.00   

12 uf]Nd]Zj/L dlGb/ lgdf{0f 200000.00   

13 v]ns'b dgf]/~hg 200000.00   

14 tfk|;f d;fg] kf6L{ lgdf{0f 100000.00   

15 blnt dlxnfx?nfO{ Ifdtf clej[l4 tflnd -l;nfO{_ 100000.00   

16 n}lËs lx+;f lj?4 tflnd cleofg 100000.00   

17 afnaflnsf d}qL sfo{qmd 100000.00   

18 ckfË l;k ljsf; tflnd 100000.00   

19 ;'Go3/ ;'Ts]/L sfo{qmd 100000.00   

20 :sfp6 Ifdtf clej[l4 tflnd 50000.00   

21 km§] wfgf{ df]=af= ;fljs b'jfrf}/ ^ 1800000.00   

22 e§f/ 5fk kf]v/] df]=af= ;fljs $–^ 300000.00   

23 ;]n] sfkmnu}/L df]=af= ;fljs !–# 250000.00   

24 5fk nK;] df]=af= goFf 6«ofs 200000.00   

25 u|fld0f ;8s dd{t 400000.00   

26 ljB'lts/0f -kmnfd] kf]n vl/b tyf Joj:yfkg_ 700000.00   

27 ;fd'bflos cWoog s]Gb| Joj:yfkg 100000.00   

28 jftfj/0f, j[Iff/f]k0f tyf ljkb\ Joj:yfkg tflnd 50000.00   

hDdf 7350000.00   

 


